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Geometry, Measures & Statistics Arithmetic
3) Bird Number of birds 73 * Number of stars * Aﬂ'thmetic !ﬁgﬁi&l Page 8§ — Multiplving
o ol Froquenc = — Written Subtraction by 10, 100 and 1000
y y requency : ;
Sparrow E Monday - —— 5 ';S_Q_G,?!,QLZ; 1) 23 1) 130 j
— Whiole Murmbers 2) 32 2) 5900
. Tuesday A :
: ) 82 3) 8730 ..
Wednesday 11 Pa,geS F) o 3 — Written Addzﬂ@n 4) 18 4) 643700
Pigeon 12 Thursday 1) 55 5) 721 5} 761000
Friday 2y 79 &) 511 6) 95300 _‘
Wednesday 3) 83 7) 501 7) 4005000 |
6 more stars 4y 160 8 118 8 910000 1
5 8} Cape Town 5) 132 9y 436 }
10°C 6) 585 ' 10) 104 Page 9 — Dividine }
9) 30,10, 20 7y 720 11) 281 by 10, 100 and 1000 i
Sparrow 1 |
3 §) 565 12) 62 1 7 i
Robin 10 9} 939 13) 314 2} 55 i
100 1199 14) 761 31 98 }
Pigeon 11) 751 15) 548 4 160 1
12 5) 740 i
Gaase $ 810 16) 29 ! :
13) 1740 17) 72 6) 3 :
Seagull 14) 5555 18) 85 7) 68 ;
15) 264 19) 3224 8} 40 :
Number of birds 16) 795 20) 1928 ;
@ = 2 birds : Pages [0 and 11 ‘
17) 972 21) 5626 Usine Times Tabl. |
35 birds 18} 8786 233 3053 — Using Times Tables :
16 19) 9000 23) 1999 1 33 |
14
84 Orange: 192° 20) 61551 24) 2900 2y 24 |
210 Apple: 100° 21) 143811 25) 5922 3) 45
5 4 Banana: 40° 22) 30730 26) 8746 4 110
2 Pear: 28° 5) 35
2 5 23) 299 27) 80368
z4 24) 953 6) 48
o Pages 41 to 43 — Analysing Data 28) 68477
0= : : 1) 6 25) 1820 29) 39013 7) 27
éparrow " Rabin Pig.eon Goose Seagull 2+4+5+9+10=30,30+5) 26) 94109 30) 18740 8) 144
Bird 9 2
4 150 2} Group A:3 (30 +10) 31) 50812
) Lo lox messages Group B: 2 (20 + 10) 32) 19900 10) 12
200 | 3) 3hours (442 +1+5=12. Total musthe 15, because 15 33) 19560 3
+5=3. 5~ = 12y 11 »
5) 90 beats per minute 5_ 350,15 -12=3) 34) 74428 )
4 minutes 4) 50 ice-creams (70 + 55 + 65 + 10 = 200, 200 + 4) N 13) 4
6) A | i , ; 5) 4,2,2,5,2 198
56 5 6) 8 students 139
_ 32 students 16) 9
» E.g. the most common way to travel is to cycle OR

cycling was twice as common as walking

Height
<
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